Maths – Monday 1st March
[image: A picture containing table

Description automatically generated]
For the pre-task, circle the oranges into groups of threes (3). Then answer the questions next to it.

For fluency, you need to use the pictures of the resources to work out the answers to the number sentences. For example:
[image: Shape

Description automatically generated]REMEMBER:
The multiplication number sentences will have the biggest number at the end.
The division number sentence will have the biggest number at the start.
3 x 4 = 12
4 x 3 = 12
12 ÷ 4 = 3
12 ÷ 3 = 4 










Fluency:
[image: Diagram

Description automatically generated]

[image: A picture containing box and whisker chart

Description automatically generated]

[image: Timeline

Description automatically generated with medium confidence]

[image: A picture containing clipart

Description automatically generated]








Show your working out.
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What are the missing numbers from the 9 times table?

9 18 27 45

54 72 81 90
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Use it!
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Explain it!
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